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O MAHS E2R X2
-E2MEE 2 AEE2 SA22 [ 1290 =&, 30.5km, 8,558t ]
1.8km, 838ZHBHR ]

-2 FYl [ 404,

- DEMANSE ALY [

O DEANEES 28 S8t AlQQ otFsE
- TRAMS SN L WL (DY, X
- AR ) AUS LK L DA
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o= Lo =
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C2AES SN 4.573,639,650|  6,122,556,780| 5,165,957, 110
Jh2 . Bots 2 el 3,863,841,890|  4,252,021,000|  3,999,340,380
s ex e 1,546,928,340|  2,100,000,000|  2,070,562,950
QoS 2K e 1,077,608, 750 ,450,000,000]  1,395,557,420
ZEBAZ BN BN | 569,852,000 . .
NYgE BEH22(2X) 700,000 1,300,000 1,300,000
P 309,285,600 312,000, 000 311,372,380
NeE AL HH(2X) 47,423,230 50,000,000 48,379,950
T2 S0 =Y 1,068,385,940|  3,449,921,680|  1,684,647,700
e LED 1,258,632, 770 1,260,000,000|  1,250,836,750
CARI Y LEA Y B 331,643,270 405,000,000 339,056,970
SHAE B DE)NY S 2,278,000 3,992,000 3,980,300
N=3s A 3.841,854,160|  3,015,980,000|  2.318,120,670
OelsdY NES AY 0 319,000,000 317,742,590
AnERIosH HAS I 0 910,000,000 0
EE'EEOASD(' A f’;f’gili? Jax 0 420,000,000 380,493,940
no ) HEES =228 S 0 200,000,000 161,109,770
cegaa AR Sxze 281,781,450 55,566,000 49,748,420
W HABY X4 31,657,740 35,408,000 29,886, 110
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